m

0613910

8x @11 mm dril
in plastic when mounting

7110025
8210805

7112080
8212500

7310070

8210500

7112110
8212500

D
&
e 0613950

| __——When placing on a stall
floor, mount the watertrough
on lower holes

7112030

8212500

1106200

detail C(1:5)

Item-nr.

Description

Number

0418020

mounting clip 60mm

2

0613020

mounting kit Pingo, incl. float valve

0613055

water trough Pingo 200; lose trough

0613910

sup.post 80mm square, 130cm - Pingo L

0613911

sup.post 80mm square, 130cm - Pingo R

0613912

mounting tube splashboard Pingo 200

0613913

bottom tube splashboard Pingo 200

0613915

plastic panel light-grey 197x120x5cm

0613950

wall support for stainless trough

1106200

stopper 60mm

1106800

stopper 80mm square

7112030

hexagon-head bolt M12x30 galv.

7112080

hexagon-head bolt M12x80 galv.

7112110

hexagon-head bolt M12x110 galv.

7310070

coach bolt M10x70 galv.

8210500

self locking nylon nut M10 galv.

8212500

self locking nylon nut M12 galv.

|| O|[DNININIBN R RRRIRIR|R

watertrough Pingo 200 reno

Number:

0613900-O0

spinder .

DAIRY HOUSING CONCEPTS

mm

Date:

16-12-2020

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.

No rights can be derived from this drawing.




m

0613910

<
)

~ O

7110025
8210805

7112080
8212500

7310070

8210500

7112110
8212500

D
&
e 0613950

| _—When placing on a stall
floor, mount the watertrough
on lower holes

7112030

8212500

1106200

detail C(1:5)

Item-nr.

Description

Number

0418020

mounting clip 60mm

N

0613020

mounting kit Pingo, incl. float valve

0613055

water trough Pingo 200; lose trough

0613910

sup.post 80mm square, 130cm - Pingo L

0613911

sup.post 80mm square, 130cm - Pingo R

0613912

mounting tube splashboard Pingo 200

0613913

bottom tube splashboard Pingo 200

0613950

wall support for stainless trough

1106200

stopper 60mm

1106800

stopper 80mm square

7112030

hexagon-head bolt M12x30 galv.

7112080

hexagon-head bolt M12x80 galv.

7112110

hexagon-head bolt M12x110 galv.

7310070

coach bolt M10x70 galv.

8210500

self locking nylon nut M10 galv.

8212500

self locking nylon nut M12 galv.

O[O A NININIDDN ===

watertrough Pingo 200 reno without plate

spinder .

DAIRY HOUSING CONCEPTS

Number: 0613905-0
mm
Date: 30-11-2020

Drawing remains our property and may not be reproduced, shown or entrust to third party or used otherwise.

No rights can be derived from this drawing.




